ATTACHMENT A: LIST OF REPRESENTED CLASSIFICATIONS

ACCOUNTING TECHNICIAN Class Code # 6001: CLASS CODE # 6002: ACCOUNTANT Class Code # 6003: OFFICE TECHNICIAN CLASS CODE # 6004: EQUIPMENT MECHANIC Class Code # 6005: PLANT OPERATOR III CLASS CODE # 6006: PLANT OPERATOR II CLASS CODE # 6007: PLANT OPERATOR I Class Code # 6008: **OPERATOR IN TRAINING** CLASS CODE # 6009: **UTILITY WORKER III** Class Code # 6010: UTILITY WORKER II CLASS CODE # 6011: UTILITY WORKER I CLASS CODE # 6012: PATROL OFFICER II PATROL OFFICER I CLASS CODE # 6013: Class Code # 6014: GATE OFFICER II CLASS CODE # 6015: GATE OFFICER I

SALARY SCHEDULE BY CLASS

C	LASS	NAME: A	CCOUNTING	TECHNICIAI	N					
•			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step	2023	2024	2025	2026
(0	_01	\$26.29	\$27.74	\$28.43	\$29.14	_01	\$54,683	\$57,699	\$59,134	\$60,611
ATE!	_02	\$27.61	\$29.13	\$29.86	\$30.61	¥ _02	\$57,429	\$60,590	\$62,088	\$63,648
.≺ .R	_03	\$28.99	\$30.58	\$31.34	\$32.12	A _03	\$60,299	\$63,627	\$65,187	\$66,830
HOURLY RATES	_04	\$30.44	\$32.11	\$32.91	\$33.73	ON _04	\$63,315	\$66,810	\$68,453	\$70,179
¥	_05	\$31.96	\$33.72	\$34.56	\$35.42	_05	\$66,477	\$70,158	\$71,885	\$73,694
	_06	\$33.56	\$35.41	\$36.30	\$37.21	_06	\$69,805	\$73,674	\$75,483	\$77,376
C	LASS	NAME: A	CCOUNTANT			-				
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step	2023	2024	2025	2026
	_01	\$30.84	\$32.54	\$33.35	\$34.18	_01	\$64,147	\$67,683	\$69,368	\$71,094
ATES	_02	\$32.38	\$34.16	\$35.01	\$35.89	¥ _02	\$67,350	\$71,074	\$72,842	\$74,651
HOURLY RATES	_03	\$34.00	\$35.87	\$36.77	\$37.69	를 _03	\$70,720	\$74,630	\$76,482	\$78,374
URL	_04	\$35.70	\$37.66	\$38.60	\$39.57	JANNA NNNA 104	\$74,256	\$78,354	\$80,309	\$82,285
포	_05	\$37.49	\$39.55	\$40.54	\$41.55	_05	\$77,979	\$82,264	\$84,323	\$86,403
	_06	\$39.36	\$41.52	\$42.56	\$43.62	_06	\$81,869	\$86,382	\$88,546	\$90,730
C	LASS	NAME: OF	FFICE TECH	NICIAN		_				
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step _	2023	2024	2025	2026
(0	_01	\$19.89	\$20.98	\$21.50	\$22.04	_01	\$41,371	\$43,638	\$44,720	\$45,843
RATES	_02	\$20.88	\$22.03	\$22.58	\$23.14	¥ _02	\$43,430	\$45,822	\$46,966	\$48,131
.≺ .R	_03	\$21.93	\$23.14	\$23.72	\$24.31	A _03	\$45,614	\$48,110	\$49,317	\$50,544
HOURLY	_04	\$23.02	\$24.29	\$24.90	\$25.52	N _04	\$47,882	\$50,523	\$51,792	\$53,082
Ĭ	_05	\$24.18	\$25.51	\$26.15	\$26.80	_05	\$50,294	\$53,040	\$54,392	\$55,744
	_06	\$25.38	\$26.78	\$27.45	\$28.14	_06	\$52,790	\$55,702	\$57,117	\$58,531
C	LASS	NAME: Ed	QUIPMENT N	ECHANIC						
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Ston	2023	2024	2025	2026
	_01	\$31.74	\$33.49	\$34.33	\$35.19	Step _ _01	\$66,019	\$69,659	\$71,406	\$73,195
\TES	_02	\$33.33	\$35.16	\$36.04	\$36.94	¥ _02	\$69,326	\$73,133	\$74,984	\$76,856
.≺ R⁄	_03	\$34.92	\$36.84	\$37.76	\$38.70		\$72,634	\$76,794	\$78,728	\$80,704
HOURLY RATES	_04	\$36.51	\$38.52	\$39.48	\$40.47	JANNA NN _04	\$75,941	\$80,642	\$82,659	\$84,739
H	_05	\$38.09	\$40.18	\$41.18	\$42.21	_05	\$79,227	\$84,677	\$86,798	\$88,982
	_06	\$39.68	\$41.86	\$42.91	\$43.98	_06	\$82,534	\$88,920	\$91,146	\$93,434
	-									

C	LASS	NAME: PL	ANT OPERA	ATOR III						
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step	2023	2024	2025	2026
HOURLY RATES	_01	\$34.45	\$36.34	\$37.25	\$38.18	_01	\$71,656	\$75,587	\$77,480	\$79,414
	_02	\$36.17	\$38.16	\$39.11	\$40.09	¥ _02	\$75,234	\$79,373	\$81,349	\$83,387
Υ.	_03	\$37.89	\$39.97	\$40.97	\$41.99	JE _03 _04 _04	\$78,811	\$83,346	\$85,426	\$87,547
OURI	_04	\$39.62	\$41.80	\$42.85	\$43.92	Z Z Z Z Z	\$82,410	\$87,506	\$89,690	\$91,915
Ĭ	_05	\$41.34	\$43.61	\$44.70	\$45.82	_05	\$85,987	\$91,874	\$94,182	\$96,512
	_06	\$43.06	\$45.43	\$46.57	\$47.73	_06	\$89,565	\$96,470	\$98,883	\$101,338
C	LASS	NAME: PL	ANT OPERA	ATOR II						
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step _	2023	2024	2025	2026
"	_01	\$31.43	\$33.16	\$33.99	\$34.84	_01	\$65,374	\$68,973	\$70,699	\$72,467
RATES	_02	\$33.00	\$34.82	\$35.69	\$36.58	₹ _02	\$68,640	\$72,426	\$74,235	\$76,086
LYR	_03	\$34.57	\$36.47	\$37.38	\$38.31	AP _03	\$71,906	\$76,045	\$77,938	\$79,893
HOURLY	_04	\$36.14	\$38.13	\$39.08	\$40.06	N _04	\$75,171	\$79,851	\$81,827	\$83,886
Ĭ	_05	\$37.71	\$39.78	\$40.77	\$41.79	_05	\$78,437	\$83,845	\$85,925	\$88,088
	_06	\$39.28	\$41.44	\$42.48	\$43.54	_06	\$81,702	\$88,046	\$90,230	\$92,498
C	LASS	NAME: PL	ANT OPERA	ATOR I						
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step _	2023	2024	2025	2026
S	_01	\$26.98	\$28.46	\$29.17	\$29.90	_01 \(\begin{array}{c} \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	\$56,118	\$59,197	\$60,674	\$62,192
ATE	_02	\$28.33	\$29.89	\$30.64	\$31.41		\$58,926	\$62,150	\$63,710	\$65,312
LYR	_03	\$29.68	\$31.31	\$32.09	\$32.89	O3 _04 _04	\$61,734	\$65,250	\$66,893	\$68,578
HOURLY RATE	_04	\$31.03	\$32.74	\$33.56	\$34.40	Z _04	\$64,542	\$68,515	\$70,242	\$72,010
I	_05	\$32.38	\$34.16	\$35.01	\$35.89	_05	\$67,350	\$71,947	\$73,757	\$75,608
	_06	\$33.73	\$35.59	\$36.48	\$37.39	_06	\$70,158	\$75,546	\$77,438	\$79,394
C	LASS	NAME: OF	ERATOR IN	TRAINING						
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step _	2023	2024	2025	2026
ဟ	_01	\$23.51	\$24.80	\$25.42	\$26.06	_01	\$48,901	\$51,584	\$52,874	\$54,205
ATE	_02	\$24.69	\$26.05	\$26.70	\$27.37	₹ _02	\$51,355	\$54,163	\$55,515	\$56,909
LYR	_03	\$25.86	\$27.28	\$27.96	\$28.66	JANNA 04 04	\$53,789	\$56,867	\$58,282	\$59,758
\sim	0.4	\$27.04	\$28.53	\$29.24	\$29.97	W _04	\$56,243	\$59,717	\$61,194	\$62,754
OUF	_04						ΦΕΟ 400	# 00 740	004.054	#05.004
HOURLY RATES	_05	\$28.12	\$29.67	\$30.41	\$31.17	_05	\$58,490	\$62,712	\$64,251	\$65,894
HOUF	_	\$28.12 \$29.39	\$29.67 \$31.01	\$30.41 \$31.79	\$31.17	_05 _06	\$61,131	\$65,853	\$64,251	\$65,894

C	LASS	NAME: UT	ILITY WOR	KER III						
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step	2023	2024	2025	2026
Ø	_01	\$28.40	\$29.96	\$30.71	\$31.48	_01	\$59,072	\$62,317	\$63,877	\$65,478
ATE	_02	\$29.82	\$31.46	\$32.25	\$33.06	₹ _02	\$62,026	\$65,437	\$67,080	\$68,744
⊼	_03	\$31.24	\$32.96	\$33.78	\$34.62	O3 _03	\$64,979	\$68,702	\$70,429	\$72,176
HOURLY RATES	_04	\$32.66	\$34.46	\$35.32	\$36.20	ANNA -04	\$67,933	\$72,134	\$73,944	\$75,795
Ĭ	_05	\$34.08	\$35.95	\$36.85	\$37.77	_05	\$70,886	\$75,733	\$77,646	\$79,581
	_06	\$35.50	\$37.45	\$38.39	\$39.35	_06	\$73,840	\$79,518	\$81,536	\$83,554
C	LASS	NAME: UT	ILITY WOR	KER II						
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step _	2023	2024	2025	2026
	_01	\$25.82	\$27.24	\$27.92	\$28.62	_01	\$53,706	\$56,659	\$58,074	\$59,530
HOURLY RATES	_02	\$27.11	\$28.60	\$29.32	\$30.05	¥ _02	\$56,389	\$59,488	\$60,986	\$62,504
_≺ R	_03	\$28.40	\$29.96	\$30.71	\$31.48	AN _03	\$59,072	\$62,462	\$64,043	\$65,624
OUR	_04	\$29.69	\$31.32	\$32.10	\$32.90	N _04	\$61,755	\$65,582	\$67,246	\$68,910
Ĭ	_05	\$30.98	\$32.68	\$33.50	\$34.34	_05	\$64,438	\$68,869	\$70,616	\$72,363
	_06	\$32.28	\$34.06	\$34.91	\$35.78	_06	\$67,142	\$72,322	\$74,152	\$75,982
C	LASS	NAME: UT	ILITY WOR	KER I						
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step	2023	2024	2025	2026
S	_01	\$22.37	\$23.60	\$24.19	\$24.79	_01	\$46,530	\$49,088	\$50,315	\$51,563
ATE:	_02	\$23.49	\$24.78	\$25.40	\$26.04	¥ _02	\$48,859	\$51,542	\$52,832	\$54,142
HOURLY RATE	_03	\$24.61	\$25.96	\$26.61	\$27.28	JANNA 04	\$51,189	\$54,122	\$55,474	\$56,846
OUR	_04	\$25.73	\$27.15	\$27.83	\$28.53	W _04	\$53,518	\$56,826	\$58,240	\$59,696
I	_05	\$26.85	\$28.33	\$29.04	\$29.77	_05	\$55,848	\$59,675	\$61,152	\$62,691
	_06	\$27.96	\$29.50	\$30.24	\$31.00	_06	\$58,157	\$62,650	\$64,210	\$65,832
C	LASS	NAME: PA	TROL OFFI	CER II						
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step	2023	2024	2025	2026
S	_01	\$26.03	\$27.46	\$28.15	\$28.85	_01	\$54,140	\$57,117	\$58,552	\$60,008
ATE!	_02	\$27.33	\$28.83	\$29.55	\$30.29	₹ _02	\$56,847	\$59,966	\$61,485	\$63,003
LYR	_03	\$28.70	\$30.28	\$31.04	\$31.82	JA _03	\$59,690	\$62,962	\$64,563	\$66,144
HOURLY RATES	_04	\$30.13	\$31.79	\$32.58	\$33.39	N _04	\$62,674	\$66,102	\$67,787	\$69,451
Ĭ	_05	\$31.64	\$33.38	\$34.21	\$35.07	_05	\$65,808	\$69,410	\$71,178	\$72,925
	_									

	LASS	10,000=1 7	TROL OFFI		4.005			4.0		4.00-
		2022	1.055	1.025	1.025		2222	1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step _	2023	2024	2025	2026
တ	_01	\$19.56	\$20.64	\$21.16	\$21.69	_01	\$40,685	\$42,931	\$44,013	\$45,115
ATE	_02	\$20.78	\$21.92	\$22.47	\$23.03	¥ _02	\$43,222	\$45,074	\$46,218	\$47,362
_≺ R	_03	\$22.01	\$23.22	\$23.80	\$24.40	JONNA -04	\$45,781	\$47,320	\$48,526	\$49,733
HOURLY RATES	_04	\$23.23	\$24.51	\$25.12	\$25.75	N _04	\$48,318	\$49,691	\$50,960	\$52,229
Ĭ	_05	\$24.45	\$25.79	\$26.43	\$27.09	_05	\$50,856	\$52,166	\$53,518	\$54,850
	_06	\$0.00	\$0.00	\$0.00	\$0.00	_06	\$0	\$54,766	\$56,202	\$57,595
C	LASS	NAME: GA	ATE OFFICE	r II		_				
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step _	2023	2024	2025	2026
	_01	\$21.88	\$23.08	\$23.66	\$24.25	_01	\$45,510	\$48,006	\$49,213	\$50,440
ATE	_02	\$22.97	\$24.23	\$24.84	\$25.46	¥ _02	\$47,778	\$50,398	\$51,667	\$52,957
.≺ R	_03	\$24.12	\$25.45	\$26.09	\$26.74	AU _03	\$50,170	\$52,915	\$54,246	\$55,598
HOURLY RATES	_04	\$25.33	\$26.72	\$27.39	\$28.07	N _04	\$52,686	\$55,557	\$56,950	\$58,386
¥	_05	\$26.59	\$28.05	\$28.75	\$29.47	_05	\$55,307	\$58,344	\$59,800	\$61,298
	_06		\$0.00	\$0.00	\$0.00	_06		\$61,256	\$62,795	\$64,355
C	LASS	NAME: GA	ATE OFFICE	r I						
			1.055	1.025	1.025			1.055	1.025	1.025
	Step -	2023	2024	2025	2026	Step _	2023	2024	2025	2026
	_01	\$15.51	\$16.36	\$16.77	\$17.19	_01	\$32,261	\$34,029	\$34,882	\$35,755
ATES	_02	\$16.48	\$17.39	\$17.82	\$18.27	¥ _02	\$34,278	\$35,734	\$36,629	\$37,544
.≺ R⁄	_03	\$17.45	\$18.41	\$18.87	\$19.34	A _03	\$36,296	\$37,523	\$38,459	\$39,416
HOURLY RATES	_04	\$18.42	\$19.43	\$19.92	\$20.42	18 _03 _04 _04	\$38,314	\$39,395	\$40,373	\$41,392
H	_05	\$19.39	\$20.46	\$20.97	\$21.49	_05	\$40,331	\$41,371	\$42,390	\$43,472
	_06	\$0.00	\$0.00	\$0.00	\$0.00	_06	\$0	\$43,430	\$44,512	\$45,656